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szg ID=45% 
  

zg ID=71% 
  

tpl IC=0,77
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tpl IC=0,81
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Pr

1,2
1,4

2,0
Gp /Pg

Pr

Ko

Pr+ż

Gp

Pd
G

Gp 

0,21,0

6,9

7,9

6,5

9,1

8,5

tpl 

szg 

szg/zg szg 

tpl

tpl/pl 

szg

tpl 

pl 

1,4

1,0 I

2,1 II

16
25,07

10,0

nN(PdH
//C+B)

2,6
Gp

Pg

nN(Pd+H
//PdH)

Ps +Pd+ż (Pg)

Pd

Pd+Ps

Ko

2,2

1,2

4,7

3,2

8,4
8,5

tpl 

szg

szg

szg

3,2

17
25,1

10,0

nN(żl)

2,0

Pd /Pg

Pd +Ps

nN(Pd+C)

Gp

Gp

Pr+ż /Pg
Pg+Ż//Pr

Gp+ż

Gp 

1,0

3,0

4,0

4,6

7,0

8,2

szg

szg

tpl

tpl/pl 

pl IC=0,65 

pl 

3,5

23,36
15

10,0

nN(PdH)

1,3

2,3

Pg /Gp 

Ps

Pg+Ż

Gp 

Gp

Gp /Pg

0,2

3,0

6,0

4,0

pl 

szg 

tpl/pl 

tpl 

pl/tpl 

pzw IC>0,95

pzw IC>0,95

pzw IC>0,95

pzw IC=0,97

pzw IC=0,97
tpl IC=0,81
pl IC=0,65
pl IC=0,59
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